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9(x + 5)² = 9(x² + 10x + 25) 

               = 9x² + 90x + 225 

 

2- � �J��
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P = 9x² + 90x + 225 - (2x - 1)² 
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    = 9(x + 5)² - (2x - 1)² 

    = [3(x + 5)]² - (2x - 1)² 

    = [3(x + 5) + (2x - 1)][3(x + 5) - (2x - 1)] 

    = (3x + 15 + 2x – 1)(3x + 15 - 2x + 1) 

P  = (5x + 14)(x + 16) 

  

3- +������
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��&���(5x + 14)(x + 16) = 0 

�W�&�35x + 14 = 0 ��1x + 16 = 0 

)&3� x = � ()
* ��1x = -16.  

���E�0G��+��������0c5� ()
* � ��-16.  
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1= �e���sin i � ��tan i. 

��&���sin²	 + cos²	 = 1 
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BU = F$GH � GI�- � $JH � JI�- 

BU = F$�� � ��- � $�� � ��K 

BU = �L � �& 

BU = 5 cm  
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f(x) = 50 x 
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f(x) = 20 x + 600.  
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��&���50 x < 20 x + 600 

�)&3�30 x < 600 
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